PTET 2 Year 2023 Paper

Section-A / {AT-H
Mental Ability / AT Jrga

Choose the alternative which closely
resembles the water image of the given
combination.

39 Ty =1 999 *t =1 feu o daise &
TABAHTAAR |
BK50RP62

(A) B20Bb9S (B) BKSO¥bES

(C) BK20¥beS (D) BK20KbLES

In the question below are given three

statements followed by three conclusions I,

Il and HI. You have to take the given

statements to be true even if they seem to

be at variance from commonly known

facts. Read all the conclusions and then

decide which of the given conclusions

logically follows the given statements,

disregarding commonly known facts.

Statements : All schools are colleges.
Some universities are institutions.
No school is university.

Conclusions :

[. All colleges are universities is not a

&OSSlblllty.

II. No college is university is not a
ossibility.

II. l§ome institutions are not schools is
not a Fossibility.

(A) Only | and II follows.

}B; Only II follows.

C) Only III follows.
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The film director wants an actor for the lead

ole of Lucky who perfectly fits the

description that appears in original
screenplay. He is not willing to consider
actor who do not resemble the character as
he is described in the screenplay, no matter
how talented they are. screenplay
describes Lucky as an average-sized, forty
something, red , with deep brown qﬁé
very fair skin, and a brilliant smile.
casting agent has four actors in mind.

Actor 1 : s a stunning red-haired
handsome who is 59" and in his mid-
twenties age. His eyes are brown and
he has an o%ive complexion.

Actor 2 : has red hair, deep brown eyes,
and a fair complexion. He is in his
mid-forties and i1s 5'5".

Actor 3 : is 5'4" and of medium build.
He has red hair, brown eyes, and is
in his early forties.

Actor 4 : is a blue-eyed, red head, in
his early thirties. He's of very slight
build and stands at 5'.
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Soham has invited his three friends over
to watch the football game on his wide-
screen television. They are all hungry,
but no one wants to leave to get food.

Bi the time they are arguing about

who should order the food, a

commercial comes on the television

screen for a local pizzeria that delivers
izzas at home. ¢ phone number
ashes on the screen briefly and they all
try to remember it. By the time Soham
grabs a pen and paper, each of them
recollects a different number.

#1: All of the men agree that the first
two numbers are 67.

# 2: Three agree that the third number is 2.

# 3: Three of them agree that the fourth
number is 4.

#4: Three agree that the fifth number is

reater than fourth number but less
than sixth number.

# 5: Three agree that the sixth number is
6; three others also agree that the
seventh number is 8.

Which of the numbers is most likely the

telephone number of the pizzeria ?

(A) 6726548

(B) 6724568

C) 6724758
D) Insufficient Data
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(A) 6726548 (B) 6724568
(C) 6724758 (D) 9™
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Mahesh is working with a friend to find
a location for the toy store he plans to
open in his town. He is looking for a
E’ ce that is either in, or not too far
om the center of town and one that
would attract the right kind of foot
traffic. Which of the following locations
should Mahesh’s friend call to his
attention ?
(A) A storefront in a new high-rise
building near the train station in the
center of town whose occupants are
mainly young, childless
professionals who use the train to
commute to their offices each day.
A little shop three blocks away
from the town's main street,
located across the street from an
elementary school and next door to
an ice cream store.
A stand-alone storefront on a quiet
residential street ten blocks away
from the town’s center.
A storefront in a small strip mall
located on the outskirts of town that
is also occupied by a pharmacy and
a dry cleaner.
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While travelling in a Haryana registered
commercial taxi from Haryana to an
adjacent city (another State), your taxi
driver informs you that as he has no permit
for running the taxi in that city, he will
stop at its Transport Office and pay the
prescribed fee of ¥ 50 for a day. While
paying the fee at the counter you find that
the transport clerk is taking an extra ¥ 50
for which no receipt is being given. You
are in a hurry for an office meeting. Under
such circumstances, what would you do ?

(A) Do not interfere at all as this is a
matter between the taxi driver and the
tax authorities.

(B) Take note of the incident and
subsequently inform the matter to the
concerned authorities.

(C) Go up to the counter and ask the clerk
to give back the money which he has
illegally taken.

(D) Treat it as a normal affair and simply
forget about it.

BT it e SR § R §

T % IR (G TH) § IA1 i a5,

T ST i TR war s 5
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You are a Professor in a University and
are setting an examination paper on a
particular  subject. One of your
colleagues, whose daughter is preparing
for the examination on that subject,
comes to you and informs you that it is
his daughter’s last chance to pass that
examination and whether you could help
him by indicating what questions are
going to be asked in the examination. In
the past, your colleague had helped you
in another matter. Your colleague
informs you that his daughter will suffer
from depression if she fails in this
examination. Under such circumstances,
what would you do ?
(A) In view of the help he had given
you, extend your help to him.
(B) Report the conduct of your
colleague to the higher authorities.
(C) Explain to your colleague that this
would be violating the trust of the
University authorities and you are
not in a position to help him.
(D) Regret that you cannot be of any
help to him.
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In a question given below there is a
statement followed by two tions
numbered I and II. An assumption is
something supposed or taken for granted.
You have to consider the statement and
assumptions and then decide which of the
assumption(s) is/are implcit in the
statement. You have to consider the
statement to be true even if it seems to be at
variance from the commonly known facts.

Statement : The school decided to
rusticate such students from the school
who is creating violence and not
following rules in the school.

Assumptions:

I. By rusticating students from the
school those students will never do
such things again in the future.

II. This action leads to discipline in the
school.

(A) Only assumption I implicit.

B; Only assumption 11 im%icit.

C) Either assumption I or Il implicit.

D) Neither assumption I nor II implicit,

feu T us 99 W Uk FYA F 9 @

T 1 31 & EE | U aron
mﬁmms_h Th T 5B
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(C) WﬁWImllmﬁ%ﬂgl

(D) 9 a1 aron | ARAE 1 2

If in a certain code lan{.la (S

EQUATION is coded as ZFJVM RC.

then how is FORECAST coded in that
same code language ?

% 99T § EQUATION
H1 ZFJVMLRG & ¥4 ¥ eag fohan smar
2, @ 35T Fe 9N § FORECAST &l &8
FHeag feran s 2
(A) EROFTSAC
(C) EFORSATA

(B) ULIVXZHG
(D) VILUGHZX
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10.

11.

Find the missing number in the given
series following the same pattern.

@ M e § quH Yo @1 IHE HA
BT TH T 19 HIfT |

29Al1, 3CLS, FO47, 56JR, ( ?)

(A) 50U6 (B) 6NV5

(C) 50Ve6 (D) 60U5

Read both the statements and decide
which of the following answer choice
correctly  depicts the relationship
between these two statements :
Statements :

I. The car manufacturing companies
have recently increased the prices
of mid-sized cars.

II. The Government recently increased
the duty on mid-sized cars.

(A) Statement [ is the cause and
statement 11 is its effect.

(B) Statement II is the cause and
statement | is its effect.

(C) Both the statements [ and II are
independent causes.

(D) Both the statements | and 1I are
effects of independent causes.

1 HYAT B I 3N a9 i foh Freafafaa
H 4 & g1 30 fower 3 e S &
e HaY 1 HEl @ H R
Y
. R i $ufa 3 g« & ° gem
3T <l R i hiFai § G H 2 |
II. B3R 9 81 & § He9q AR i
FRI T IeH T |
(A);imlm%aﬁtmumm
|
(B) gmum%aﬂtmlmm
|
(C) %44 1 3 11 §H1 ¥ada HIT 2 |
(D) HF 1 3 11 gHI a7 SRV &
qud 2 |
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12. A company needs to decide whether to

13.

invest in a new technology platform or to

continue using therr existing platform.

Which factor should the com‘pany consider

most when making this decision *

(A) The potential benefits of the new
platform.

(B) The compatibility of the
platform with existing systems.

(C) The cost of investing in the new
platform.

(D) The potential impact on employee
productivity.

T HUH1 I TE qF B 1 HEvISHdT & 5

1 T 9 T

%n I

|

T HEH i fa=w F =na 2

(A) U T % Huifad e

(B) w1 foem < |19 o 54 i sgerd

(C) qu A= H Eaksiugt

(D) HHIRT IeITEehdT I HATE g9

Six books - English, Hindi, Science,
Computer, Maths, and Sanskrit each
contains different number of pages.
Computer book contains fewer pages
than only two books. English book
contains more pages than Science book
but less than Sanskrit book. Science
book does not contain least pages.
Sanskrit book contains fewer pages than
Hindi book. The book which contain
third lowest pages contain 28 pages.
How many book(s’z contain more pages
than Science book "

new

(B) Two

TS - s, o8, R, S
% = 3 ] 93;%9
Tford 371 T%ha Wi H RT3 I8
51 §& 7 | FPL I gEIH d e of
Q& ol g1 H H 98 &ld & | 3RS i
7% 4 fagm 6t ges 3 s s
HEHA hl JEE § HA
T H HeH F9 9B T8l & | §Ehd i

4§ f&dt &t T it gorn ° #

| 98 & fored e §a9 $H I8 7,
IEH 28 TH R |

et geawl ® fagm it s @ st
qEE?
(A) 91
(€) T

(B) & _
(D) 378 & iE TE
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14.

15.

16.

In below shown figure, count the

number of triangles :

(A) 26
(C) 28

(B) 27
(D) 30

From the given answer figures select the
one in which question figure is embedded.

P e ETE R
FTehia HiEd 2 |

,/]\

VA v )
A) |/ B) b1 ,

©) K (D) ¥

Choose the alternative which closely
resembles the water image of the given
combination.

39 faepeq 1 =39 =t o1 feu o g 6
A BAFIAIAE |

GR98AP76ES

(A) CHEA8VbACE2

(B) CH68BVbAYE?R

(C) CYasVbi9E?R

(D) CHABAbLACGES
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17.

18.

19.

Select the alternative which represents
three out of the five given below figures
which when fitted into each other would
form a complete square.

ﬁmmwﬁaﬁﬂ%‘cﬁﬂim
mﬁtﬁﬁﬁ?ﬁqmuﬁrﬁﬁxﬁm%

T e o o

>>DVD-D

5
I
i 125 234
rom the given answer figures select the

one in which question figure is
embedded. s &

o ¥ 39 g e
%ﬂﬂ@?ﬁi g AT

r\
¢

A
f'i (8) / {
AN

Read the following information carefully
to answer the question given below :
?) M * N means M is father of N.
i1) M — N means M is sister of N,
(i1) M + N means M is mother of N.
(iv) M /N means M is brother of N.
In the expressnon Q+D*P/N, how is

P relatedto Q ?
(A) Grandfather (B) Grandson
-Sf?—% Daughter (D) Son
g M Y HT I & & U
AHHH] 1 e :
(Y)M*NFIHIEM, NFHIfaai 2 |
(i) M — N'«ﬂanf%M,Niﬁam%l

({i)M+NFTFIEM, NFIH@TR |
(w)M/NEFTaI?f%M,NEETm?%I

(A)

(©) (D)

%+D*P/Nﬁ, P, Q © frE yhR
Hafed

(A) T (B) drar

(C) s& (D) =

S e —

s

A T LA AR T Rt = i

] et ey Y e T W S A S o e

20.

21.

22.

In a town of 400 % ple, 185 speak
Tamil, 165 speak Punjabi, and 160
speak English. 40 speak both only
nglish and Tamil. 20 speak both only
Punjabi and Tamil. 10 speak both only
English and Punjabi. How many people
speak onlg;one language ?

U T H, 185 aftrer aem &

aTerd 3, 3160 3
# 1 40 Faet IS i AT GHT ST # |
20 Fhered ST 3 A g s 2 1 10
e IS FH GSE g1 aerd & | o

AN Shae U TN Sieid 8 2
(A) 310 (B) 201
(C) 210 (D) 301

Point B is 7 km to the west of Point A.
Point C is 12 km to the south of Point E.
Point A is 5 km to the east of Point C.
Point D is 8 km to the north of Point C.
Point G is 6 km to the west of Point D.
Point H is 14 km to the south of Point G.
If Shubham is standing 6 km to the east
of Point H and takes 1 hour to complete
6 km distance, then in what possible
time he would reach Point E, if taken the
shortest route ?

(A) 120 minutes
(C) 115 minutes

(B) 180 minutes
(D) 159 minutes

| G
zﬂmﬁ%mﬁg&m e H % 6 fprft g 1
23 6 o HEF | =5
ol 7, A 98 e @ | g E W agem,
IR 39 I G BT TRAT fordT ST 2

(A) 120 fiFe (B) 180 fiFe

(C) 115 fame (D) 159 fae

4

Find suitable answer in place of question
mark.

TS 9% T T I9GH I gleq |
16022 2363 ?
(A) 43 (B) 26
(C) 53 (D) 46
MKP
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(Q. No. 23 and 24): 8 persons from A to H sit
around a square table such that 2 persons sit in
the middle of each of the sides. The persons
sitting on one side of the table face the persons
sitting exactly opposite to them on the
opposite side of table. A sits on the immediate
right of E. G faces the one who is second to
the left of B. 3 persons sit between A and G.
Two persons sit between F and D (when
counted from one side only), who is adjacent
to E. Only one person sits between G and C
(when counted from one side only). A is not
adjacent to F.

(NH. 23T 24) : A Hd® &% § Ak Th
TR 5 % =T 3N 39 ThE 4ad & f 2 =Afw
T Y % Wed H 93d # | 99 % U IR 9
Hferdl 1 g@ B9 % dieh faudia 3R 343 At
HIAREIAEFIHgE a2 | GH JE A
FAfFH AT BFH I A TR | A
MGHAA3IAFIRE IFIARDF A=A
=itk 43 & (hael Uh &% & i I W), STE &
fie 2 | G 3 C % 77 Fae % AT da1 2
(e U AN H iR 91 W) | A, F & faehe 78

2

23.  Who among the following sits second to
the night of the one who faces E ?
(A) C (B) D
(C) F (D) Either CorD
feferfat @ A E ) SR 3
% T g F AT 8 ?
(A) C (B) D
(C) F (D) FA CATD
24. How many persons sit between E and
F?
(A) 3 (B) 4
(©) 2 (D) None of these
E3RFHaa e afras g2
(A) 3 (B) 4
©) 2 (D) ¥4 | IS TE
MKP
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25. The school principal has received
complaints from parents about bullying
in the school yard during recess. He
wants to investigate and end this
situation as soon as possible, so he has
asked the recess aides to watch closely.
Which situation should the recess aides
report to the principal ?

(A) A girl is sitting glumly on a bench
reading a book and not interacting
with her peers.

(B) Four girls are surrounding another
girl and seem to have possession of
her backpack.

(©)

Two boys are playing a one-on-one
game of basket ball and are arguing
over the last basket scored.

Three boys are huddled over a
handheld video game, which isn’t
supposed to be on school grounds.

el o YU & HEAEHN & o

Thet < T B gHehH % 91§ Al foar

o e focht 8 | 98 Sog & See @

feufa <t sifer 3fit 38 g e =Ed 2,

AT 369 HEATEH1I HEEeh! ol Sieh! &

2@ o foru a1 2 | aeATas T gEEs i

form fefer <6t gemn wumrr =1 & =ifee 2

(A) T SASh! T o= T U fehard 1g @&
2 3 3 ifyEl % =1y Sa-sa
TEHE R |

(B) IR wEfhal U 3 Fghl F AE-
9TE 3 37 uE ear 2 5 3us aes
e A ferr T 2 |

(C) @ TS T Fiet HI TH-Th WA
Td @ & AN fEl siehe @R T
THHEE |

(D) & &% &9 & =ed 91 difedl 1
FfausmmdeRige s, = &
HeH | 7 &M =7 |

(D)

Search For All Subjects Notes www.maharathacademy.in



26.

Mrs. Dixa took a taxi to meet her three
friends for lunch. They were waiting for
her outside the restaurant when she
pulled up in the car. She was so excited
to see her friends that she left her bag in
the taxi. As the taxi pulled away, she and
her friends took notice of the license
plate number so they would be able to
identify the car when they called the taxi
company.

1:  The four women seem to agree that
the plate starts out with the letter J.

2:  Three of them agree that the plate
ends with 12L.

3: Three of them think that the second
letter 1s X, and a different three
think that the third letter is K.

The four license plate numbers below

represent what each of the four women

thinks she saw. Which one s most likely
the license plate number of the taxi ?

sfioreft feea 3 & & foru 1o+t = wefor
F Ty & fou 2t ot | 3 T2iie % =t
IEHT SA9N L E i 59 98 FH Fh |
92 o wefedl 4 faem ¥ fow o
IeaTiea oft o o dn e H & Bie e |
HH A R welt mE, @A s sEeh
gaferdl 3 Szdy wie g W oE o
q1fer o ol U1 i el HE T HR hH
TE=H HLHS |
1:  <r Afzend 36 919 § 9aed vdd 2 &
Top eie <t I3 J HERH Bl 7 |
2: 390 Y A HEEd & fF = 12L #
1Y G BT 2 |
3: 3 ¥ A HiEdl 8 T g 3R X B,
31T 371 i | & fob e 3R K E |
Hr= < T8 =R wsEE wie HEIT gl @
o = afzensii § & ves w0 g=d & 5
I 1 T | S hl SEEE wie JEAT
Hi = 8 = dyra g9l Ffus 2 2
(A) JXK 121 (B) JYK 12L
(C) JXK 12L (D) IXX 12L

O MBS A A LA A DS T (B B T W LTS Y| A S A A AR AR 0 AT AR A W et
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27.

28.

29.

If in a certain code language DESERT is
coded as EGVHTU, then how is BUDGET
coded in that same code language ?

ofe fereft ffeaa %2 am # DESERT 1
EGVHTU % ¥4 ¥ §eag fohal A1l 8, at
31 Fe 9T § BUDGET &l 58 $2a8
fepan stmam 2

(A) CVGKGU (B) CWIGHU

(C) CWGIGU (D) CVIGUG

Count the number of quadrilaterals in the
following figure :

TR i T e

(A) 7 (B) 8
(€) 10 (D) 12

Following question consists of a set of
three figures X, Y and Z showing a
sequence of folding of a piece of paper.
Figure Z shows the manner in which the
folded paper has been cut. Choose a
figure which most closely resembles the
unfolded form of figure Z from the four
answer figures given below.

X, Y 3R

Fr=fefga e 1 6
Z 1 TH W B A HIH & Uh ghS Bl
HIgA o1 Y 1 8 | SATHfd Z 39 alih

!
g
A
:
3

X) 80

b

(A)

(&)
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30.

31.

32

33

If a mirror is placed on the line, then |

which of the answer figures is the
correct image of the given figure ?

Ife @1 v v gdvy @1 A, q 8@ 0 I

Tl § 8 HH # AHa § 78 Al
&1 TE wfafaw 8 2

(A) (B)

0 =
g K

Which symbol will be on the face
opposite to the face with symbol * ?
*

%WW%WWW@?W
fag Bm 2

& |5 = 3 8

(A) @ (B) 8
(C) $ (D) +
If mirror is placed on the line MN;, then

which of the answer figures is the
correct image of the given figure ?

MNW{T@TGHQ,?ﬁ?ﬁ:g

SRl H H % i
f@ﬁma@nﬁﬁm%? g

(©) (D)

@ . $

SHNAGAI E
N

(A) 2HVIADALI
(C) IAGANHS

(B) IADAVIHZ
(D) IAGAVHS

Arrange the following words as per the
order in dictionary :

Il B IEH & FH h
STET 3 | T
1. Successor
3. Successful
5. Succession

(A) 4,5,3,2,1
(C) 4,3,5,2,1

2. Successive
4. Success

(B) 3,5,4,2,1
(D) 1,2,3,5,4

MKP
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34.

36.

37.

From the given alternative words, select
the word which cannot be formed using
the letters of the given word :

feu Tu Sfeus vegl # | 97 veg 9T S
fgu mu v & el w WEM Fh T
FATIT 71 HHAT & :

LEGALIZATION

(A) ALERT (B) GALLANT
(C) ALEGATION (D) NATAL

A man is performing yoga with his head
down and legs up. His face is towards
west, in which direction his left hand be ?
(A) North (B) East

(C) West (D) South

wF eHl i e 3t | I FE am
w @ 2 | 36 g@ ufves fi N 2,
g o ar form feon 5 8 2

(A) 3T
(C) gfv=m

Mark the answer as per the code

provided below :

Assertion (A) : Clothes are not washed
properly in hard water.

Reason (R): Hard water contains many

minerals.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are correct and (R)
is not the correct explanation of (A).

(C) (A) is true but (R) 1s false.

Sﬁl)% (A) is false but (R) is true. ]

fed T %2 % FgER I Fifhd i

FARHE (A) : FR 7 § HIS 3k & &l
i A7 |

FR (R) : FH3R S H 34 GHA B 2 |

(A) (A) 31 (R) GH1 & & a1 (R), (A)
1 T THE R |

(B) (A) 3R (R) EHI H&1 & @91 (R), (A)
1 T T A 2 |

(C) (A) #&l 2, &feh (R) T 2 |

(D) (A) I 2, e (R) #&1 2 |

The average of numbers 0.64204,

0.64203, 0.64202, 0.64201 is .

=T 0.64204, 0.64203, 0.64202,

0.64201 =1 37tEd |
“(B) 0.642021

(A) 0.64202
(C) 0.642022 (D) 0.642025
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38.

39.

41.

42.

What day of the week was on February 14,
20127

(A) Sunday (B) Monday

(C) Tuesday (D) Wednesday

14 B8, 2012 1 GHE H1 A a1 feq o912
(A) TeEm (B) HHER

(C) WTedan (D) g9ar

If in a certain code language HOPEFUL
is coded as KLSVIFO, then how is
CAPTAIN coded in that same code
language ?

I feret fafvaa e W § HOPEFUL &t
KLSVIFOQS‘«-WﬁfE@TGﬂ?ﬂ% ar 3t
%2 |19 H CAPTAIN i H Feag foa
a2

(A) FZSGZRO (B) GEGSRDQ

(C) FZSGCLQ (D) FZSGDRQ

Find suitable answer in the place of
question mark.

TyaTES % % T 9T 39 ST G |
392315525213 2

(A) 7 (B) 13

(C) 17 (D) 21

Choose the box that is formed from the
given sheet of paper (X).

@ 8 0T i 3ffe (X) B & wiaw g |

To o000

X) 1
(A) 1 and 2 only
(C) 3 and 4 only
(A) Fae 1 32 (B) Hae1 2 33
(C) I 3 34 (D) hae | 34
Initially clock showed 1:30 PM, what
will the time be after 1,44,356 minutes ?

URY § =l H 1:30 PM &9 @ 9,

(B) 2 and 3 only
(D) 1 and 4 only

1,44,356 Toe & =g =1 997 &m 2
(A) 7:15 PM (B) 7:26 PM
(C) 7:30 PM (D) 8:00 PM

O MBS A A LA A DS T (B B T W LTS Y| A S A A AR AR 0 AT AR A W et

] ] A gOTE W AR (D AR W AR e TV A (O RO 14 YT W B PO A AT O TR S

—
—

43.

Kunjan, Lila, Mehul, Nikunj, Om,
Priyank and Queen are sitting on a
circular dining table for a dinner. Queen
is not between Priyank and Mehul. Om
is neighbour of Kunjan and Nikunj. Lila
is second to the left of Queen. Priyank is
to the immediate right of Kunjan. Who
is sitting to the immediate right of Lila ?
(A) Mehul (B) Priyank
(C) Kunjan (D) Queen
oM, o, ¥ge, Fg, om, fam i
+ @A * U U AR SRR 2
WA 2 | 7, T 3 ge & o9 T8
% | 37, a?w aﬂtﬁgﬁ{m%ﬁ?ﬁ% | ffem
A2 | s, F9 6
a"(as‘c:r&% |?ﬁa1%aﬁa;aﬁaﬂﬁa% ?
(A) TS (B) fmrie
(C) FoH (D) ==H
A certain number of students are
standing in a straight line, and all of
them are facing north. Arundhati is 19®
from the right end of the line, and
Arvind is at the 15" position from the
left end of the line. Both, Arundhati and
Arvind interchange their ‘Eositions, after
which Kirti who was 24™ from the left
end is now at the 5™ position to the left

of Arvind’s new position. How many
students are there in the line in total ?

(A) 45

(B) 47

(C) 49

(D) cannot be determined.

BEl 1wk fAfvaa e v @i @ |
E@%,&ﬂ(ﬂﬂ‘ﬁﬁﬂéﬁﬁﬁ&ﬁ(%l
sreyfa ufth & 2@ B | 199 TUH 9T 2,
3 afae dfts & 9@ B8R ¥ 154 TWH W
2 | Il 3R sfhe SFl 3 H =W
g ° see o, fmes 9 Sifd = and
BR A 249 wF W At 39 3nfae & U
T il IR AR 59 TWE W R | e A
el fohad B & 2

(A) 45

(B) 47

(C) 49

(D) Tauifa 781 ferr ST Asa 2 |

MKP
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45. Gamer Males who are Non-Dancer and

47.

Indian are represented by which number ?

el ou i -7 (7% 7 B) e
R B, fore e g eufe mu g 2
1 e Gamer ferrgi

Dancer sds
o~ Male 7y

12 2

5| 8|9
7ol 1

4 3

S [ ndian WA

(B) 7
(D) None/a&13 T&l

(A) 5
(C) 10

Choose the box that is similar to the box
formed from the given sheet of paper (V).
39 died i g4 91 fgu 70 HPTS 6 o |
T EEE (V) FTAE R |

E‘%EEB
W

() (d)
(A) (a) and (b) only
(a) 311 (b)
(B) (c) and (d) only
e,
), (c) and (d) only
(b), (c) 3 (d)
(D) (d)only
(d)
At 3:30, the hour hand and the minute
hand of a clock form an angle of

3:30 &1, 9 &1 52 1 G 3N o B

(€)

_ HIHOEER |
(A) 60° }B) 75°
(C) 90° D) 100°

Find the missing number in the given
series following the same pattern.

& T FEen § gaE Yo F1 I F
BU IH &A1 714 Hif |

15, 17, 23, 35, 55, 85, (?)

(A) 92 (B) 112

(C) 120 (D) 127

MKP
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49.

In the question, a piece of paper is folded
and cut as shown below i the questions
figures. From the given option figures,
indicate how it will appear wlgen opened.

e &I 1G] 3R HwEI
T R, e e e ueE ¥ fe@mn
T 2 | feu mu faeRen q, Fa13d &6
@ I T T a1 feas & |

‘E '._E]".'E Ty =

(B)

S| [0 (D)

eel4

| 2N

In the following question, statements are
given and these statements are followed by
conclusions. You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically
follows the given statements, disregarding
commonly known facts.
Statements : All the bottles are boxes.
Some boxes are bags. Some bags are
suitcases.
Conclusions :
[.  Some bags are bottles.
II. Some suitcases are boxes.
III. Some bottles are bags.
IV. Some bottles are suitcases.
(A) Onlyl (B) Only Il
C) OnlyIlll _ (D) None of these

Afgd T § HU for MU E IR H
FHYAI o a1g e fgu mu B | 3met feu Mo
FHHT Sl A T & 91 & o Haad a2l
¥ =1 welia 2 & | Gl qz 3R fi
fauffa =t f& ﬁgﬂn&zﬁﬂwﬁ 0¥ $HE 4

fqu m

N

HHA ¢ |

HE T4 aEbt

HYHI 1 dlfches ®9 H

HYH ; g1 Fdel 919 2 |
i I & | FB

. FodAEEe & |

1. %O qeehd a9 ¢ |

1l 8 siad 9 2 |

IV. $3 Siact g¢hH ¢ |

(A) I (B) Hae 11

(C) %aa Il (D) 379 & 1 TE
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&k

S2.

Section-B / YAT-§ )
Teacher Aptitude and Attitude / & if¥emar @ aﬁqﬁf

Suppose a teacher asks students to submit a

home assignment. Students pre the
assignment generally as written ument
and submit to the teacher. Teacher

evaluates the assignments, writes his/her

comments/ estions in the assignments,
Su%icl-: to the students. How
nwesage is conveyed in this situation ?

(A) Non - Verbal Communication
(B) Verbal Communication

maﬁﬁq%@ﬁr%mﬁ%@mm
T o U el & | B AMar ® fofad
TS % B9 H IFEIHS R Hd 3 3R
Toreres <t 51 Fd & | e Wt e
qoahd a1 8, T wE A 3
feopft /gema forgan & 3 BEl # amm
e & | 39 feufs o gew 8 e s 2 2
(A) T-HifEs 5=1 (B) tﬁitaam

(C) FSREEER (D) iadafoe sar

Verbal communication involves
conveying message through
communication.

(A) personal appearance and oral

(B) oral and written

nature and behgwour of students.
(A) Personal appearance

(B;

3R SIaER i THgH & fou R s 2 |
(A) aﬁﬁm:ﬂf@ﬁ(m

(D) gw%

[Yellow = 3M

R TR o

] | O W AR )[R AE] AN TV A {0 o P T[T WA BT

13

54.

During the process of communication,
barrier creates faulty expressions,
poor translation, amblguous words, and
map;l)) opriate vocabulary
%C) Lhysncal gg%
inguistic
TR ﬁ srl%sm e

mla?—ﬁ &l
(A) ‘mﬁﬁzs (B)
(C) umT-ga4t (D)
‘Oxy%eu is represented by O,.”

Which type of knowledge is it ?
?A) Procedural knowle%

“actual knowledge
ST Sl O3 oI ATl & 1°
I foFg TR HT I 2 2
(A) Storaes T
(B) ATcHh 3T+
(©)
(D) d=FTcH FH
Which of communication helps

individuals and groups within an
organization to communicate for achieving

ef\tz)lbhshed organizational goals ?
B 1 =
C p Communication

D) Orgamiational Communication

T (B) AR S

(©) H‘QH{E (D) HT3ATHS: 41

Which of the following sentence is
incorrect in context to learning ?

A)
ng Learning 1s individual and not social.
C) Learning modifies the behaviour of

Search For All Subjects Notes www.maharathacademy.in



58. Which of the following sentence is

correct for ‘Teaching’ ?

(A)

(B) Concerned with only growth of an
iniidl. ‘
(©)

(D) ulatlo Direction

Guidance,
and Encouragement of Learning.
ﬁhﬂﬁhﬁaaiiitagatniﬂﬁn AT H
foawdi 22
(A)
(C) &

YiedTEd

(D)

59. In psychology, awareness is a concept
about
(A) the state of knowing, perceiving
and being cognizant of events
) |
(D) None of these
o STl & 91 ° UH
FFAERM 2 | .
(A) HEI3 i ST, FHH ST i
feafa
(B) Ry
(C) STTE 8 =l 1EAle
(D) ¥ B
60, Teaching is not effective when
(A) students are achvely involved
(B) it is well plannec
(©)
(D) communication is not effectively
reciprocatin
Toreror Tl 741 2 5@
(A)tﬂatmiainrﬁsﬁﬁﬁf%_-
MKP

[Yellow = 3M |

i T e R

—_
=S

61.

62.

is the major source of unhealthy
relationships.

(A)
(B) Depression
(€ nsttational chaos

(D) Institutional stress

ISR G| %] YgE A 2 |

The nature and quality of interpersonal
relationships greatly influence the

and of an institution.

(A) B
(B) environ ‘
(C) euvu'onment, ethqs
(D) environment, life

qre s daul i qEYT
£ 3N gqﬂ% FA R |
(A)

(B) STamEivl, [9h1E
(€) aﬁﬂaun T
(D) SrarEt, S

Which hierarchy follows top- bottom
approach in an educational institution for

decision making ?
@) P

(B) Principal, Teacher, Director and
Management

(C) Management, Director,
and Teacher

(D) Teacher.

e o Bt o o

Principal

Tereft fore

T JeFH - ae g H1 SgEw
HAT R ?

(A)

(B) WU, HeATH, w3
AqY
(C) waed, fiewms, wurmems 3R
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65.

67.

Which are the two significant and crucial

factors for an Interpersonal Relations ?
(A #

B) trus

C i~

D) trust and respect & honesty and

!udgcmcnt bot < PUE o
ﬁrvﬁuas FRFH AR ?

(B) |

(C) % :

(D) T IR HEH 991 SR 3R
faofa i

of the institution is a bridge to

maintain  appropriate  professional

relationships between staff members and

mana ement

%A) ead

C) Difecios

&Y % &g 3Mad SATEHTIH HeY §HIC

(A) 5q@ (B) HH9&F

(C) Fiew (D) FH=T%

‘The SDG-4 education 2023 framework

on education emphasizes the inclusion of

modalities for the foundation of quality

education.’

What 1s meant by SDG-4 ?

(A) Social Development Goal

(Bg Sustainable Development Goal

(D) Co-ordmator
FHEAR

“It is the responsibility of the to
keep relationships with students focussed
on Pedagoglcal goals and academic
re u1rements

2A B) licad
C) students D) teacher .
STEvEHaT
T Hfzd BE & q1Y GEi B ST T
A
(B) S
(D) HAATH

[Yellow = 3M |

f
'
i
L]
i

68. Which of the following are the signs of
fostering

69.

70.

healthy interpersonal

nships ?

relati
(A)

©)

| ATCL

no wdlmgness to negotiate and
engage in dialogue
(D) mutual respect and  shared
responsibility & mutual
commitment to %als both
=

TaEH STl ¢ o Hebd & ?
(A) :
(B)
(C) A= 3
&1 13 F=B1 T8 2 |
(D) TER FHH 3R |13
aﬁﬁ%%m.qwﬁﬁuﬂaamﬁﬁ
The teacher is responsible for maintaining
(or acquiring) __ not only in areas of
personal interest but m all areas relevant

to course ioals or obl'ectives.
iAg :

% t & wfe
CE %‘; i 3%‘\"“1‘? ¥ fom

1 =9TC TEA (I IH
) & foru faer & |
(A)
(B)
(€)

‘A is based upon specialized
study and training; it provides skilled
service and Guidance for a definite
purpose to a limited section of the
population for a limited period of time
and can be practised independently or
within an institution.
(A) Profession (B)
(C) Trainin (D)

I

gfsteo o
TE 3; %Fﬂﬁaaaaﬁ%%rqama
%@mﬁaaﬁ%m@ﬁﬁaﬁw%
3 39 Woa ®9 9 771 TRt gwen & Jfiw

g fpm s a2 |
(A) =T
(C) wfsteor

(B)
(D)
MKP
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i

72.

3

74.

MKP

Which of these is not a characteristic of

a profession ?

(A) A professnon renders an essential
social service.

profession not nd
gss&ss:on of a body of specialized
owledge and extended practical

ﬁﬁﬁaﬁ:éwaﬁﬁﬂwﬁ%"

(A) SHIETE EEH IS Ja1 T
HEATE |

(B)

(C) == R EGIRY I
(D) =Fa99™ BIE] =R
yfsiem % 21 % nfaus
S AN TE HE e |
Which of the following not
cRaracternst:c o a teaching rofessuon
(B) Tramstor )
ractlcal and definite end
© F
D) Lack of self-organization
{ﬁtn%f@ﬁ 0¥ $9 i e sgeaam 6
fersman il %"
(A) g w

(B) = W H Th
ﬁf?aa 3d | =g |

(©)

(D) ATH-HTSA | 1

“Professional developmcnt of teachers is
not an event, rather it is a process.” This

roCess IS m nature.
?A% static &B) continuous
C D)
“fa1 & S
ﬂﬁ%ﬁa%a%@m% I =g s
|
(A) fer (B) fiaw
(C) &

In an Educatlona‘ institution,
commitment to the well-being and
development of all pupils is essentially
demonstrated by a ;

g ; Teacher
C

Management
FTH TS

(A) IS
(C) =94

[Yellow = 3M

75.

76.

i

Which statements from the below does
not show commitment of teacher
towards pupils and ;;tﬁpjl learning
(A) Teachletrg treat pupds mequltably

(B) T

Teachers treat all pup:
wor § 8

b s

Toreres 1 wfaagar 1 w2 & Fa 2 ?
(A) =T g+t ¥ 919 FEEH
aﬂtmiﬁmmwﬁil

® B
(C) S

(D) FEATH T4t o
FIER HA 2 |

commitment

to Students’
well-being and learning is not through

Teacher’s

A) ins;tiVe influence
em m ractlce :

-t afa foreres i
%mﬁﬂiﬁ% |
(A) FHRTHE THE
(B)
(€) =
(D) Jied]
What is STEM cumculum
(A) S o d

(B) B

(C) Science Technology Engineering &
Mathematics

(D) Sociology Technology Education &
Mathematics
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79.

variations

are  important
consideration  with

reference  to

dependence-independence.

. %g; AEt itude

(B) A student can become socially
matured when he is exposed to
those people who are socially
mature so that he can pattern his
behavxour accordingly.

©) A

(D) None of the
Wmm@mﬁ 27
(A)

(D) ¥ H3
During the process of students

learn to live up to the expectations of the
society in which they live.

% 29 BE 39 EAE
SN A S i A |
(A)
(B) HMHIIS 1
(D) d

[Yellow = 3M |

d
;
|
!
|
|
|
|
|
|
|

17

81.

helps student to know what is
desirable and expected from him.
A) |
(B) Pro

(C) AIIOWg students to do as per their
wish (Flexible atmosphere)

(D) Providing appropriate role models

_ BE I T8 A H Heg Hl @

G 1 S S I R

(A) 7

(B) i 3T ’."",F:;?i' TATE0] Y& ohi ]

(C) BT I ITh! FTB1 & AR H i
Fpafa 1 | (gfeTse )

(D) 39geh ST SeH T |

Who introduced *Play way’ method ?
(A) Caldwell Cook (B) h

(©) (D) Blooms

frEe = @ (‘Play way’) wgfa &
S[EIATA i 2

(A) FETAFH  (B) Biae

(c) fiead (D) =H

Which factor influences that students
studying in a secondary school
understand that society does not expect
him to regress to childhood behaviour at
this age ?

(A) Concept of dependence-independence
(B) Self-control

(C) Stress

(D)

FH H FH GG Fa R wE
wreAfie faaer § ue aren o 78 w6
o et 378 36 39 ° S99 % FEER H
3 #ftea =i 3ufie TE T B 7

(A) HHLE ’7’ AT <61 SO

(B) -

(C) a4

MKP
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84. Match the following :
List - I List - 11
(Parameters) (Description)

a. Flexibility 1. Ability to set clear
expectations and
parameters for
performance

b. Holding 2. Ability and willingness
people to adapt to the needs of
accountable situations and change

tactics

¢. Managing 3. Ability to support
Pupils guplls and to help them

ecome confident

independent learner
d. Passion for 4. ability to provide clear |

Learning direction and to
enthuse and motivate
= them
g g
(TIEE)
a. TR 1. Ue¥H = forg T e i
HIICE! i T2 T =i &l

b. w@misl 2. uifRfaa fHi FEE &
ECICC]

SETAT 1 emdr 37 =30

c. Toenfmi 3. faenf¥ai < e @ 3k
Eafcre] I2 Fcafevardt @ e

- T HEe o i &Rl
d ®EA® 4. o8 o gem i 3 3=
LGl mr%amﬁaﬂtitﬁamﬁ
(A) ael,b. 1 C‘4,d 3
(B) B=d
(C) e=3,d-4

YE-4,2-2, b- —
85. Which of the followmg defines the

concept of leadership ?
(A) influence, crucial, ex

B L

(D) influence, voluntary effort, goal ;
achievement

[Yellow = 3M |

86.

87.

In leadership, transforms
potential mto reality.
(A) analysi
s Gl 2 |
(A) (B) IO
(© (D)
Match the following :
List — 1 List — 11
(Leadership Myth)  (Description)

(B) catalyst
(D) facilitator
g

a. Everyonecanbea i Rarely
leader.

b. Leaders can deliver ii. Not
results. necessarily

c. People who get to  iii. Not always
the top becomes
leader.

d. Leaders are great ~ iv. Not True
coaches.

(C) a- |v b-m, c- i, i
(D) c-i,d-m,a-ui,d-1v

Use of ICT for quality education was

highlighted by

(A) NCF-2005  (B)

(C) NEP-1968 (D)
foven % feru
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89. Below given are the strong basis for

leadership development Maftch List - 1

with List I :
List-1 List-11
a. Responsible i. Possess a long term plan
Leaders for their school as well as
career and personal life.
b. Focus ii. Take psychological
ownerships for their actions.
c. Ideation ii. Needs recognition that
goes with success.
d. Credibility  iv. constantly feeding their
minds with new ideas.
Fr= feu o Jg fasm & fore moa sman
g T~ 1 o1 g 11 & gufer shifa ;
-1 -11
a. R i 3% % Y-8
EGll TSR] ST SR S %
| oo e Epferh A |
b. Wz ii. 37 1 o foru TS
HEAT wiftE H |
c. JEHTEAT il TEEH <l TG B B WAl
THAA1 o H1Y A 2 |
d. faveediaa iv. e maR 3% faRm w3 g
fedi § W@ 2 |
A{ a-ii,b-ic-1
B
C) e
Dyd-ma-1,b-1v,c—m
90. Which of the following are the
characteristics of leadership in an

educational system ?
L lead by example and inspiration.
ii. guide gersonal programs, but rely

on his decision
iii. produce  cohesiveness  without
which co-operation is impossible.
iv. don’t resolve differences which arise in
Wwing organisation because priority is
gggromh oftheo
v. contribute to the group by

advancm%uscﬁll sugs estions. B e
# ig?
s %amﬁu |
1l tl'l"iaﬁh &t

éﬁﬂsﬁﬁm@mwﬂmiﬁ‘n
AW 3 Hi o fomn waam

4
| g
%@%%ﬁ%

b

iv.

v. ITENT GEEl 1 AT G EE o |

(©

[Yellow = 3M

R TR o

i
'
|
|
|
|
i
;
i
!
H
|
;
|
;
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I91.

The communication of leader’s vision,
making his/her dreams apparent to
others and ahgmng people with them is

92.

ollower, situation and

communication

9. Evaluatlon thal monitors the learning

rogress during teaching is
A #
cement Evaluation

Formatwe E aluatlon

94. According to Kohlberg a teacher can
instill moral values in students b
(A) ]
B)
%C% ng es with them
(D vamg importance to religious
teac ng
aagﬂ u e fonfai |
EinED t@'ﬁ T W
THAE |
(A) §
(B) &
(C) el T == & |

(D) ﬁmmﬁﬂsr—el%m

MKP

Search For All Subjects Notes www.maharathacademy.in



95. The word communication is derived from

latin word ‘communis’ means
(A) To make common
(B) To share

(@R

(D) To know

TR ¥eg, ofed vieg “Fwgf q
Hadiiel ahie -l

(A) aFFE SR F T
(B) Hisii st & feit
() S
(D) 34 & % fow

How students can decode the message
sent by an audio programme ?

(A) Through visualization
(B) Through demonstration
(©) Through undemtandmg

Given below are the components of
communication process. Select the
appmpnate sequence

(B) sder, ) recewermedlum, | noise,
feedback
(C) sender, message, medium, receiver

(D) sender, message, medium,

receiver, feedback, noise

Her gl % gesh e feu e | sug
amawmma&y

(B)ﬁﬁimmﬁfnwm{ﬂkiﬁﬁ%
(C) 3, Hew, e, STHed
(D)zﬁgéanumm;mmﬁﬁsﬁﬁ&,

MKP
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100.

Communication  starts  with  the
conceptualization and by the
sender.
(A) development of an idea
(D) receiving of message
R I9H G FheH IR HIE
BAIR |
(A) f%m%iﬁm (B) EESiETEE

HEA0 (D) HeW WTH FET

communication carefully
plans the message and delivers it
effectively so as to invoke self-
communication among students.
(A) Intrapersonal (B) Nl
(C) Non-verbal (D) Interpersonal
:ﬁnaﬁmﬁﬁaaﬁﬁﬁmm
ST & 371 38 ATl € & UEET # ik
imﬁévﬁasmﬂ4EMEm3m@nf%m

1 H |

(A) TREEfE  (B) i

(C) -Hifgs (D) A=A
Suppose you plan to teach a content

(concept) using an audio programme.
Then, you have to write the script
required for the audio programme. So,
the content to be transacted in the
classroom is into script.

(A) Encoded

(B)_ -
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101.

102.

103.

104.

105.

106.

Section-C / {AT-H
General Awareness / §THIF SIFRSShdl

Which of the following presents the !

most significant feature of the Indus
Valley civilization ?

(A) Bumnt brick buildings

(B) First true arches

(C) Buildings of worship

D) Art and architecture
&r:ﬂ‘aﬁaa T ¥ %M a1 fay ardt megar A

a4 fersraan AT S ?
(A) m%&ﬁ&?ﬁ

(B) Y&l grfas HatE

(C) o &1 3R

(D) el 3 Frgehen

The Brahmanas are books that deal with

(A) the Bhakti theory (B) ritualism

(C) yoga D) meditation
R TG HEg 2
(A) fwfagmaa  (B) sHwied
(C) ImH (D) &I E

The paintings of Ajanta depict stories of the
(A) Ramayana (B) Mahabharata

(C) Jatakas D) Panchatantra
3Fsren o5 et foprehi il b a7
(A) THET (B) HE™Rd

(C) ST (D) d=aH

Freedom fighter Shri Surajmal Basaniya
belonged to

(A) Bikaner ~  (B) Banswara
(C) Jaisalmer (D) Jodhpur
TeyeeT T 5t saEr . H Y|
(A) HeRTE (B) sigarst

(©) (D)

The Ashoka pillar at Allahabad provides
information about the reign of
A) Chandragupta Maurya

Bg Chandragupta |

C) Samudragupta

(D) Chandragupta I1

FEATETETG 1 iy fraes smEaEe

% A A HEH FA1 2 ?

(A) SEEEE  (B) SEH oM

C) (D) 9%7TH

gl'he mighty gateways found at the

temples of out% India are called

%A) Shikhars (B) Gopurams

C) Minaras_ (D) None of these
U WA T gqu JH 9

AR T9ER HEATd &

(A) forr (B) TR

(C) "R (D) ¥4 § s &l

;
!
i
E
|
!
;
|
:
!
|
;
%
|
|
|
l
|

e
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107.

108.

109.

110.

Which of the following ruler known as
“Abhinav Bhartacharya™ ?

(A) Rana Prata

gB) Rana Kumbha

C) Hem Chandra Vikramaditya

D) Maharaé'a Suraj Mal .
%ﬁtﬁaﬁaa A fom wmas w1 e
HATETE" o 19 | JH1 11 8 ?

(A) T ST
(B) TuIm 41
(C) &3 famwmtieed
(D) HERTST §EHA
The ‘August Offer’ of 1940 sought to
conciliate the Congress by guaranteeing
(A) the setting up of a representative

Indian body to frame a new
constitution.

(B) %?vemnqcnt‘s assurance o protect

the political rights of minorities.

(C) t[hgt_ there would be no partition of

ndia.

(D) that separate electorates would not be

provided for the depressed classes.

1940 % 30T FEE’ i

SR I B FHGAT i hT HIT B |

(A) T 471 Hfgud 91 & faqu
wfafafa ardta fem i s

(B) 3ToUEETh] o UsHITdh 3T i
127 % ToTu | 1 Jva™EA

(C) Wrd F1 1 fusH T &

(D) efera =i & forw rem frates dsa
PHEERCR IR

The northernmost limit of India is

(A) 36°4'N latitude (B) 37°8'N latitude

(C) 37°6'N latitude (D) 36°12'N latitude

WA I FE Il =i

(A) 36°4'N &

(B) 37°8'N &1

(C) 37° 6' N g1

(D) 36° 12'N 3&mM™I

World's Longest Highway Tunnel above
10,000 Feet located on which national
highway ?

(A) NH3 (B) NH 8

(C) NH 12 (D) NH 18 )
10,000 ¥ ¥ FW fava & ge@ @t
Tt g frm g Teme W fRE g 2
(A) TERE TSP 3 (B) TP T 8
(C) UEHE TS 12 (D) THE T 18

MKP
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111.

112.

113.

114.

115.

What is the most important characteristic
of the islands (Indian) located in the
Arabian Sea ?
(A) They are all very small in size.

They are all of coral origin.

B y

gCi They have a V(él"iy dry climate._

D) They are extend of the mainland.

39 9§ fRm é\qgm:smtaﬁa) &1 ged
fesman s 2 2

(A) 98 HHRH TRA B |

(B) ¥ T qA F # |

KD
(©) g g@w@ag m%gl 1

(D)
In the heart of the Intertropical

Convergence Zone in the northwest, the
dry and hot winds known as * ]

iA{ Loo EB% Mango Shower
C) Nor Westers (D) Blossom Wind

JT- A= RS
&3 % U H, Ik I T s @l
: % B 8 FHT AR |

(A) (B) T 9raX

(C) R =zd (D) ==iEH fog

India is the world’s largest producerof
(A) Groundnut (B) Wheat
(C) Rice (D) Pulses
HHd £l
JcqTeeh § | ﬁg
(A) HTRe (B)

(D) @t

(C) dEd
In which of the following

£l

states,

Tumallapalle, where huge reserves of

Uranium are found, is situated ?
%A} Jharkhand (B} Kerala
C Andhra

Tamil Nadu__ (D
, STEl 7l T YSH 11T
91d &, Freferiad 3 & e o= a2 2
(A) FES (B) &
(©) (D) 379 e

Which of the following state has area—
wise the largest forest cover in the
country as per FSI 2021 ?

(A) Madhya Pradesh

(B) Gujarat

(C) Karnataka

(D) Andhra Pradesh _

FSI 2021 % 38R, Fefefeay 5 7 &=

T 1 S % [RATE ¥ 291 1 el 5
2

?ﬂiﬁ%m
(A) 71 (B) TsIA
(D) 39 W&o

(©)

MKP
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116.

117.

118.

119.

120.

121.

The Ahom tribes migrated from

§A) Sri Lanka (B) Afghanistan

3(lig)ml\/iyanmar_ ~ (D) Iran
ST el J Yarfad g8 ?

(A) Hieran (B) 3T

(C) =R (D) §H

Which of the following was the first
Indian woman who went into space ?

A) Shirisha Bandla Sunita Williams
C; Koneru Humpy fgg Kalpana Chawla
«énﬁﬁaa R

ST 37atie 8 78 oft 2
(A) Prfrsegen (B) gien faferma
(D) HeqH1 JEet

(©)

Who of the following never became an
Acting President ?

A) V.V. Giri Zakir Hussain
Cg B.D. Jatti EB{ M. Hidayatullah
L—mﬁﬁa’a T & B H FREES TZId
T8 &1 7
(A) 1.t fift (B) St &84
(C) =it. 2. 5=t (D) UH.

Who of the following ladies is popularly
known as “Grand Old Lady” of the
independence movement ?

(A) Sarojini Naidu

(B) Sucheta Kripalani

(C) Aruna Asaf Ali

D) Annie Besant )
%ﬂﬁl‘f@ﬁ. 4 3 fopm ufgen @1 @
Hicer i g 3iee 7E & €7 qE
ST # 2 o
(A) &l T=g (B) A
(C) 379N 3% HeA(D) Tl s
Which person is called “Bird Man of India™ ?
(A) Salim Ali
(B) Dr. Rahendra Prasad

C) Dr. Srikrishna Singh
Q Salman Khan

Sfth %! “*HRA 1 &8 H7” gl 11 2 ?
(A) Befm 3t (B) =T @5 WWR
(C) =I. #ipw 68 (D) HeHH @H
Amjad Ali Khan is associated with

which of the following musical
instruments ?
A{ Guitar B) Veena
%C Sitar D) Sarod
S el @H 4 ¥ forg am
T3 H Hefua g 2
(A) Trer (B) fom
(©) (D) &g
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122.

123.

124.

125.

126.

127.

Yamini Krishnamurti 1S
accomplished exponenl of
Kathak Bharatna

(e o ﬁgvrsfrli%ira% =

an

None of these

(A) HIH (B) we@-1zgs i

(C) snfed (D) 378 | s A&l
is famously known as Flying Sikh.

3 L) e
andeep Sing 1 ing
P SR

q vore forg &% 9w
H A AR |
(A) Tfie faz

oL Ok R

e first Indian Sc1entlst to win a Nobel
Prize was
A) Amart a Sen

BiCV
«
D

Hargobind Khorana
Subrahmanpyan Chandrasekhar
qiE=hR
(A) 39 87 (B) # i, v
D) gaHuH
gNgno is called as Sha&(espeare of India ?
A avi Kalidas

Rabindranath Tagore
C Mother Teresa
D) Bharathiyar

CLRGEE ?
(A) WERE Hifeie™ (B) TeigAy &R
%’Vl?] HET ] (D) HRRER

ich of the following is the primary
agenda of the Kyoto Protocol ?
A) Control anthropogenic sources of

nhouse gases
XB% egulation of hazardous wastes
C) Regulate the production of nuclear
energ
D) Regu?z,mon of Global warmmg
bl

(A)!ﬁﬂm%\a‘iézmawﬁaaﬁaﬁ

(B) @awaamﬁrre fafam
(C) Wﬁﬁ%maﬁﬁﬁaﬁaaﬁ |
gN e T 1 faEE

I:uch are the

Gange” project ?
A) Sewerage Treatment Infrastructure
B) River-Front Development

C) River-Surface Cleaning
D A'lrlrF?f these

TRETSHT % JEA T FHE 2 2
(A) T ITFR G- E=H
(B) TEi-we
(C) = - g wrd
(D) T &k

mam pillars of “Namami

O MBS A A LA A DS T (B B T W LTS Y| A S A A AR AR 0 AT AR A W et
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128.

129.

i 130.

131.

What 1s Ramsar Conservation ?

(A) It is about conservation and wise
use of wetlands.

(B) It is about conservation of forests.

(C) It is about conservation of mineral

resources.
(D) None of these

THET HTET 1 2 2

(A) T2 a:m;s%m 3R fageyf
|

(B) TE I h HEVTH AN H 2 |

(C) 7 Bt Haerl % T H AN H R |

(D) 379 & i T&

Which of the following Acts, deals with
the rights of the communities that dwell

in forest over land and other resources ?
(A) Indian Forest Act, 1927
%B) Forest Rights Act (FRA), 2006

C) Indian Forest Amendment Act, 2019

D) None of these
%ﬂ%ﬁﬁﬁaﬁqmmﬁﬁm ufty 3k

31 HETEHT TS T a1 JemEt
Fiftreprl & gefa 2 2

(A) s a9 sifufEm, 1927

(B) aqaaﬁwaﬂ%rﬁm(mm 2006
(C) HRAT a4 FuneH 3ataf-am, 2019
(D) 398 | H13 T&

Which of the following is

convention to protect ozone layer ?

(A) Basel Convention

(B) Bonn Convention

(C) Vienna Convention

(D) None ofthcsc

oA W i @ & o f=fafaa @ 3
A 2 7

the

Which of these gases is not permitted to
be released beyond certain limits by the
Prevention and Control of Pollution Act

by the Government ?

(A) Sulphur dioxide (B) Carbon dioxide

g.% Nitrogen (D) None of these
@I fore

e
frm srfufrem g fafvgq &im @
aﬁmaﬁw@aﬁrwﬁﬁ% 7
(A) T SBHTES
(B) HEH SEIHES

©) :”3':-;137*
(D) FHAFETE

MKP
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132.

133.

134.

135.

136.

What 1s the impact of climate change on
forests ?
A) Increased biodiversity

B) Increased productivity )
S Increased carbon sequestration

wildfires and pest outbreaks
1 1 T T TS TE 2 2
(A) Sta-fafagar 4§ gfg

(B) 3eareshar H afg.

(C) W&hgﬂamﬁq%

(D) ST % 3777 3R e & Y | 3fg

Acid rain corrodes the marble of the
monument. The phenomenon is also
called ’
(A) Marble growth (B) Marble evolution
(C) Marble cancer (D) Marble warp
9] T % WL H FaTid
A & | T B fiwE T2 |
(A) HTHHT (B) H fasm
(C) ETHER (D) HTHE I

Which of the following is not a heritage
site as per UNESCO list ?

(A) Keoladeo National Park

(B) Jaipur city

(C) The Jantar Mantar

D) Bikaner Fort
e 5 SPENE VA @

I U fertree el TE R 7
(A) g 3aH

(B) G e

(C) Fer Hak

(D) s &1 e

What is the State Dance of Rajasthan ?
(A) Mundari (B) Ghoomar

(C) Bhangra (D) Powada
TR %1 T8 T T8 2

(A) qeH (B)

(C) wrTsT (D)

art of Rajasthan is a minute
painting on glass using gold.
(A) Devra (B) Thewa
(C) Phad (D) None of th\ese

T i el HH 1 3T H
e WU Ged Temeprt (e 9fdm) 2 |

(A) & (B) &1
T A B8 TE

(C) %= (D)

MKP
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137.

138.

139.

Which of the following rivers drains into
Bay of Bengal ?

(A) Ghaggar (B) Luni

(C) Mahi (D) Chambal
Frafefaa & & # ot 7 s 6 @t
g finefi 22

(A) TR (B) TEHt

(C) =&l (D) =&

In which district of Rajasthan, Kalibangan,
a pre-historic site, is located ?

(A) Bikaner (B) Jaipur

(C) Jaisalmer (D) Hanumangarh
TTTerETeeh TUe Fiefla TRy & g
oot i fa @ 2

(A) R (B) SR

(C) SHeT (D) EFATTE

What is the tagline of Rajasthan Tourism ?
(A) Land of gods

(B) God’s Own Country

(C) The Incredible State of India

(D) Full of Surprises

TSTEY YA hl ST &1 2 ?

(A) Tz 3% Ted

(B) TTgH 31 5

(C) T SoHigad W2 i 3fean

(D) F& HTE TEAA

Who was defeated by Rana Sanga in the
battle of Khatoli ?

(A) Ibrahim Lodi (B) Akbar

(C) Sikandar Lodi (D) Babur

wdtell o Jg | Tom i | ford o 91 2
(A) FEH &G (B) I
(C) @@l (D) &

. The Tejaji fair is held every year at which

of the following places in Rajasthan ?

(A) Bhiwadi (B) Udaipur

(C) Beawar (D) Parbatsar
TSt Tl & HTe ey o Fafafaa |
H fopm A W st e s 8 2

(A) faars (B) 3egaq

(C) =& (D) TEaat
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142,

143.

144,

. Under

Rajasthan became the first state in India
to surpass GW of cumulative
large-scale solar installations.

T 9 1 Y8l UHT U9 59 741 2
e &3 fwm W E=E @R ufaeEl %

GWHI TR fqar g |
(A) 15 (B) 10
(C) 20 (D) 23

Sports For All (SFA) sporting services

joined as the powered-by sponsor of

which event ?

(A) Women U-19 World Cup

(B) Khelo India Youth Games

(C) FIH Women’s Hockey

(D) Khelo India University Games

pﬂﬁtm 3 (SFA) wifén afsas fra
e = T % &9 H e g 2

(A) I - 19 Teg HI

(B) fean g9 Trm

(C) THHATETE FH &iehl

(D) @t 3fean gfafddt

VAYAM RAKSHAMAH (We Protect)
is the motto of which armed force ?

(A) Indian Coast Guard

(B) Indian Navy

(C) Indian Air Force

(D) Indian Army

TIH TR (B9 &7 9 &) Tohe aee 9
1 A - 8 ?

(A) 9RAE G287 (B) YRR AT
(C) YRA™ I |41 (D) WRA™ HA1

which scheme of Rajasthan
Government, 12 sanitary napkins are
being provided free of cost every month
to women and adolescent girls for better
health management of women ?
(A) Udaan (B) Shakti
(C) Pankh (D) Pragya
TRYH WHR 6 fa A €F &
afgensti & 98 W JEYd & fou
ufgenai st feonfEl #1 & wER 12

A7l Jufeh g wem fru s @ & 2
(A) 359 (B) ¥Ifeh
(C) T@ (D) =

O MBS A A LA A DS T (B B T W LTS Y| A S A A AR AR 0 AT AR A W et

146.

147.

148.

149.

150.

In which of the following cities, Ayush
Ministry organised Scientific Convention

on World Homeopathy Day ?

(A) Jaipur (B) New Delhi

‘C) Bhopal (D) Shimla

fowa @w‘rgﬁi? %ﬁ%ﬁl‘a’tﬁ Htﬁaz
"

FrTora fema 2 -

(A) SR (B) 7% feeet

() (D) fomen

Which of the following airports in Karnataka
was inaugurated by %’nmc Minister Shri
Narendra Modi on 27lh February ?

(A) Mysuru Airport

(B) Kempegowda Airport
(g) gdha:ngalore Alrcl;r;
(D) vamogga rt
27 @l 1 guEEEl A
FACH § ﬁnfr—rﬁga q#

o1 Igared fFm T U ?
(A) CEL

AR &

(©) TS~ 3

(D) forasimm gar-sr@

Which country is known as a tax haven,
has introduced ‘Federal Corporate Tax’

for the first time ?

,ﬁ‘f

Hid 3

ﬁmz?ﬂéa?é

(A) Finland (B) Mauritius

(C) UAE D) Sw1tzerland

%ﬂ isr 1 ¢ g % &9 H S S0 2,
fSEe ugell 9 et HERE S

yeTfad R 2 2

(A) Treis (B) T

(C) =g 3@ 3nwa (D) feaeseis

Which city is the host of ‘5" ASEAN-
India Business Summit’ in 2023 ?

(A) New Delhi (B) Kuala Lumpur
(C) Dhaka (D) Singapore City
FH |1 R 2023 F ¢ ~HTd
TR FRE-aHeH” &1 H9H 2 ?
(A) € feeedt (B)
(C) @i (D) RIESN
TLMAL is a joint venture between India’s
Tata Group and which country’s counterpart ?
(A) USA gB) Israel
(C) France D) Japan
TLMAL 9Rd % 2T 598 3R 59 g0 %
e o 9 U HYh 3T9 & 2
(A) Ju8Y (B) s=E
(C) %™ (D) S9H

MKP
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Section=D / 4 T-¢

English | FSY
151. Which sentence contains an infinitive 7 . _61. “Warand Peace” isabook by Tolstoy.
A) She gave him the book. ; EA; write iB} written
B) They made dinner for themselves. | C) wrote D) writing
C) To sing is her passion. i 162. Which sentence is an active sentence ?
D) He saw the car aceident. i A) The cake was baked by my mother.
152. Fill in the blank using appropriate forms B) The car was driven by my brother.
of the verbs out of the given options : C) She sang a song for tﬁc c¥ass.
I:I)ogc olr)lllg' n%/g&l but your friend also D g\l}:ryonmeoivnlihe m&; trewatched by
?A; is . ?3% are I 163. Which sentence is an imperati've sentence ?
C) has D) have gA% I think we should go to the beach.
153. \Xl)uc;lt_\h scnteqc% i:ontams an appositive ? B }’lease turn off the lights when you
e car is blue. eave.
B) My friend, a doctor, is coming to visit. C) He is reading a book about history.
Ci Sh{ runs every day. : iD% They played basketball in the gyg.
D) The movie was emotional as well as ! 164. Put the correct word from the options :
thrilling. _ o _ ! I have been waiting here the last
154. \?Xhlcélhse[ll)tencc;l contains an mdblcr)eclt( object 7 ¢ t;\\/o hours. e
e bought a very nice book. i since or
They showed him the way. i C) i D
ki i He g layed football. . . ; 165. ghfiicll? sentence is a déclén::?:er sentence ?
D) The flowers bloomed beautlfullf(. ; A) Can you pass the salt, please ?
155. Fmdd out synonym for the underlined | g ’Iwhhat 18 youll;if;{qvomc d'::’olomr ?
word : j € sun Is shining today.
Petrarch cultivated his fame and was the D) Wow! That wgas 'gn amazing
stt cnuine l‘litcrary cglcbnty. performance!
evelope sequence : ; .
2 C;‘ despai? ng decllnons rated | 166. %’gﬁgt\;f?ng t}(;; tiggls].]plex sentence in the
156. Which sentence contains a transitive (A) The dog barked and the cat ran away.
verb? (B) She went to the store after she
A) The bird flew away. finished her homework.
B) She slept soundly.” (C) He 1s a great athlete who also excels
C) The children played in the park. in academics.
D) He ate the pizza. (D) They played soccer for hours and
157. Which sentence contains a co-ordinating ! then had a picnic.
conjunction ? ¢ 3 . g ! 167. Which sentence is in the mnterrogative form ?
(A) The sun was shining brightly in the A% The movie was very entertaining.
sky since there were no clouds. ; %B She went to the store and bought
(B) She had a headache, but she | some milk._ )
continued to teach her students. i C) What time is the meeting ?
(©) Aﬂetr fghe hadl{;mlshed her work, she } ED{ He ran three miles this moming.
went for a walk. i : S .
(D) He is tall, dark, and handsome. : 168. ﬁh'c#hiegéegnﬁfriﬁ ;:%’%Z chltltrgicae“;’ay
158. Department for military stores and | iB; The sun is shining and the birds are
supplies is known as singi
§A§ Ordinance (% Ordnance § (C) Im\,%elnnlféd to the store and bought
C) Ordination (D) Ordinary i some milk.
159. V\l/hichqsentence contains an adjective | (D) She loves to read books and
clause ? ¢ magazines.
(A) The girl who won the race was very | 169. Which sentence has a subject-verb
happy. : agreement error ?
(B) He rode his bike to the store that ! The boy and the girl is ing to school.
was very near to his house. ! flowers in the garden are blooming.
&Cg She sang a song for the class. - C) He has two sisters and one brother.
D) We ate pizza and watched a movie. | D) She sings and dances on the stage.
160.  Which sentence contains a gerund ? i 170. She my request for travelling
A) He enjoys running in the morning. together to UK.
(Bf %lﬁg;sprlg;c&n %einis%ﬁer school ! fé} MImetidan %B; o
D) The bird sang a beautiful song. i turn on furn out
MKP 26 o
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171.

172.

173.

174.

175.

176.

177.

178.

‘So.... that’ and ‘Such.... .that’ are the
hrases which express .

A{ Adverb clause of noun

B) Adverb clause of verb
}C{ Adverb clause of manner

D) Adverb clause of result

Which is the correct active sentence of

the following passive sentence ?

I was taken to the gubllc library by my

sister before I was able to read.

(A) Before I was able to read, I was taken
to the public library by my sister.

(B) Before 1 was abled to read, my
sister took me to the public library.

(C) Before I was able to read, my sister
took me to the public library.

(D) I was taken to the public library before
I knew how to reag, by my sister.

Give one word for : Irrational fear of crowds
}é} Sitophobia sB) Ochlophobia

Astrophobia (D) Claustrophobia
Choose the correct verb for the
following sentence :

Either the manager or the associates

the merchandise.
B
&
éD are supposed to orders
A/An is a word of exclamatory,
expressing a sudden feeling or excitement.
22? verb §B% adverb
C) interjection D) noun

“The sun smiled down on us.”
The above is an example of
A) Irony
B) Metaphor
C) Personification
(D) Both _ (Metaphor)
(Personification)

Choose the correct meaning of the
idiom or phrase given :
To make clean breast of
A) To gain prominence
B) To praise oneself
C) To confess without of reserve
(D) To destroy before it blooms
Choose the one which best expresses the
iven sentence in Indirect speech:
anna asked Rohan, “Have you sat in a
trolley bus before ?” )
(A) Manna asked Rohan had he sat in a
trolley bus earlier. _
(B) Manna asked Rohan had he sat in a
trolley bus before.
(C) Manna asked Rohan if he sat on a
trolley bus before.

(D) Manna asked Rohan if he has ever
sat in a trolley bus.

ordcrs
order
1 suppose to order

and
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179.

180.

181.

182.

183.

184.

185.

186.

187.

Find the correct word to complete the

following  proverb and  familiar
expression : )

Strike while the is hot.

A) iron water

}C metal D) book

Choose the most appropriate articles for
the given sentence:
heavy rainfall last week was
disaster to crops that were already in
dismal state. )
(A) No article required, an, no article
required )
B) no article required, a, the
C) The,a,a ,
D) The, no article required, the
Which of the following best expresses
the same sentence in Passive Voice :
Do you understand what I mean ?
(A) Wha}) I mean is that understood by
ou
(B) %Vaso what I mean understood by
C
at mean 1S understoo
(D) What “Rmeins S uadtrsiogd. by
you ?

Which of the following options has the

correct order of words to form an

interrogative sentence ?

(A) a& vﬂgxan /was he/ not to do/ such a
ce

(B) XVaz ];e/ not to do/ a villain/ such a
eed ?
(C) He was / a villain/ such a deed/ not

todo ?
(D) Was he/ not a villain /to do/ such a
deed ?

you ?
Is what I mean understood by you ?

No sooner had she read the telegram

she fainted.
}KE then B) than

C) therefore SD there

What is the meaning of the word
‘vernacular language’ ?

}A formal language

B) informal language

gC foreign language

D) native language

Use suitable prefix to make the opposite

of the given word :
Contented

CENN Y

C) nto D) dis

Which one of the following is an
example of “Collective noun™ ?

Eé} Feggration %g{ I\I\g?lrl;

Which word is
‘%enerous‘?

gC% itii:iy{learted %g%

an antonym for

charitable
benevolent
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Read the passage given below and answer the
uestions from 8ue. No. 188 to 192 by
choosing the answers from the given options :
Reading is an essential skill that students
need to develop in order to be successful in their
academic and professional lives. It is important
to remember that reading is not just about
decoding words on a page, but about
understanding the meaning behind those words.
Reading comprehension is the ability to
understand, analyze, and interpret what you read.
There are several strategies that students
can wuse to improve their reading
comprehension. One of the most important
strategies is to preview the text before reading
it. This means looking at the title, headings,
and any pictures or graphics to get an idea of
what the text i1s about. Another strategy is to
ask questions as you read. This can help you to
clarity any confusion you may have and to
stay focused on the main ideas of the text.

It’s also important to note that reading
comprehension is not just about understanding
the words on the page, but also about making
connections between the text and your own
experiences or knowledge. This can help you
to remember the information better and to
apply it in different contexts.

Finally, reading comprehension is a skill
that can be improved with practice. The more
you read, the more opportunities you have to
develop your comprehension skills. So,
whether you're reading for pleasure or for
work, take the time to practice and improve
your reading comprehension skills.

188. According to the passage, what is
reading comprehension ?
(A) The ability to read words on a page
(B) The ability to understz-mda analyze,
and interpret what you rea
(C) The ability to read quickly
(D) The ability to write about what you read

What is one strategy students can_use to

improve their reading comprehension ?

(A? Only read the first and last
sentences of each paragraph

(B; Skip over any pictures or graphics

%C Preview the text before reading it

D) Only read texts that are easy and

familiar

Why is it important to make connections

between the text and your own

experiences or knowledge ?

(A) To confuse yourself

(B) To remember the information better
and to apply it in different contexts

(C) To ignore the text

(D) To make the text more difficult to
understand

189.

190.

MKP
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191.

192.

193.

194,

195.

196.

197.

198.

199.

200.

According to the passage, how can

reading comprehension be improved ?

(A) By avoiding difficult texts

(B) By only reading for pleasure

(C) By practicing reading

(D) By skipping over any pictures or
graphics

What is the main idea of the passage ?

(A) Reading is an essential skill for
success.

(B) Students should only read texts that
are easy and familiar.

(C) Previewing the text is not an

important strategy for improving

reading comprehension.

(D) Making connections between the
text and your own experiences is
not  helpful for  improving
comprehension.

One should oneself to whatever

circumstances one is placed in.

(A) adapt (B) adopt

(C) adept (D) acquire

What is the meaning of the word
‘quintessential” ?

(A) common (B) ordinary

(C) typical (D) exceptional
Socrates was wisest of Greek
philosophers.

(A) the (B) a

(C) an (D) no article

Which of the following is an example of
a preposition ?
(B) happy

(A) sin
(C) wi (D) quickly

Which of the following is an example of

a conjunction ?
(B) because

(A) of
(C) beautiful (D) this

Select the word for the smd{l of rhythm,
sound, pause, stress and pitch features of
a Ianﬁuage particularly in poetry and
speech.

(A) programme
(C) prospect

(B) prosody
(D) protagonist

Which of the following is an example of
a possessive pronoun ?

(A) my (B) her
(C) its (D) all of these
He is here, ? Put question tag

(A) didn’t he ?
(C) isn’the ?

(B) won’t he ?
(D) needn’t he ?
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151.

152.

153.

154.

155.

156.

157.

158.

160.

Section-D / 9RT-§

Hindi / ﬁ#

?ﬁﬁmﬁm gu &1 F7-9g FE
%5-W Fg-9g

(A) 991 - 991 WIRR9eAl — B

(B) fea - & %gd - Hsl

(C) 79 - fem @} - ydq

(D) 9% - 9% 3@ - H1ed

BYE & I W T H1 9 HEEd
HEl 374 T |

(A) !ﬁratrraanaﬁﬁa@ﬁmfh

(B) 3781 9T i 3=t a5g <ht WifH

(C) q i

(D) f s g em

TTE IAAT - ETal 1 HY 7

(A) IRl | o o

(B) ¥R &1 HM HHT

(C) feamen Fsrem

(D) HET

;q;ﬁﬁnf%rﬁaa 1 ¥ form faemeq & asft wreci

) %1 SEFT BT 2 2
(A) 3tfiga,
(B) 3ferpm, ufearas

(D)
form S 1 3mae v TE R 2

(A) ®h1aE (B) HaTEe

(C) | (D) UhiEe

o fra v m ot g wd 78 22
(A) ¥ + fga™  (B) 99: + &K

(C) HaT + 39 (1%) m % 3h
g’ vree fpmEfg AT 22

(A) & =ft (B) gfg afu

(C) 7o &Y (D) Jur |iYg

34 H S SEeia GHH &1 IR T & 2
(A) HieTha (B)

(C) =9 (D) HAEA

. Topeft wreies wreg &1 T e H e R A

IWFEd

(A) 92 (B) e

(C) 91 (D)
sﬁﬁm%mwmqﬁ%
(A) THST Hidar ﬁmam%

(B) wzrrcm g |
(C)

(D) n’fuéhamﬁ%l

}

}
i
!
i
i
!
|
3
i
i
l
I
1
i
i
f
!
|
i
i

e

AT o A a7

] S 0 ] O WAL )[R AT W AR 0 TV D] (AT S EP 14| YT W AR 0T
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.61.

162.

163.

164.

ferar ferspey 1 qfeim weg AT 22 A
(A) (B) 3qHH,
(C) foam, Jg@ft (D) @em, T

ﬁmﬁiﬁaawqtﬁwﬂﬁm
1. FfawrtE

%’Hﬁmﬁw 29
m 9
(A) 2,334 (B) 1aﬂt
(C) 1,334 (Dyzaﬂu

frfefaa § 9 o faereg 4 fuy o= 78

37
A mﬁmﬁiﬁ'&h
P SRR L ER—

(©) Gﬁﬂwwaaﬂwm%l

(D) T2 91 3 2 FHifce #2312 |
=T A gfE § e 8 wh W ug
T E?

(A) waéaﬁmf@maﬁl

(B) 9@ H =7g %1 g3 1 |

(C) 501 710 T8 BT & |

(D) wmagqaqg%qé

165. fopa amarrim gmmﬁ%’
(A) aram E‘R
(B) éﬁaﬁwﬁaﬂ EEE
(C) Tomehi 3=1 1 18 &1 - ufted
(D) 1 ITES - ITh
166. T el 3 ' HIewT 2
(A) =t (B) ™1
167. U e VIeg & G 1 916G
Sl Had 8 -
(A) gafa (B)
(©) (D)
168. ﬁ“;‘;ﬁ Hfad 81 916 SR 37 356
ARSI q;%aﬂ?fin
(A) (B)
(C) g™ (D) Terser
169. 59 U% @l % g vei % d" H
3 Yk 9 81, 9 39 9% 1 5@ 2ar
(A) oiferm (B) FZfam
(C) (D) IT=AE
170. ‘diforn frq s weg 2 7
(A) gamett (B) 3
(C) =mTen (D) 3§
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171. 391 34 U foqm & gt faum 1 aan |, 182, Fafefea dasna e Hiadfigg 2 ?
mmmm%a;m, (A) SHETiH (B)wﬁaﬁﬂg
Gl ‘ (C) =Ha=Tih (D) =HETERH
(A) I TEHRI T (B) 9fa= :
(C) FEEEFTE (D) THH 9

172. Fre i s A e agwa ? 7

|
|
%
H
g X
# | &n feet % @e ®I 0 = g, 4E &9 [ &
gé))ggn Eg)) gqm | mﬁwmﬁ,ﬁ@ﬁ?ﬁ%ﬁgzﬁﬁmg
o | 1 et e a9 B T - 9138 TR
173. AR F AR GG A § A IFLE | ofaw wie @ g S A T AW, 98 36
(A) e -¥g2 (B) JEN -9 | fot oft webr 1 A & W T 21 T
(C) 9a-¥E (D) ¥5q - fagd ; 319 %1 gled aid # Faen i Fon | A S
174, B 5y 3 7f wre @ § faffaa | 8, G a1 86 < Sebe B A fasar g
AFAATER ? | R S 2 | SoeTE i e 59 8 37 & e
(A) 3@ (B) 9n | T8 A 2 S AT a1 TR =l WIeH 5
() TR (D) AT ( A AT g E A SR | X
2 | e H AT 1A H % 3T A i
175. ﬁmaa?%nmm?hmaasagt ; %mmm%?mw%
ST | = i preciieal FTATET
() s e | I e eChag
(B) $1ed § Sl HH-UY HI HET
(C) 31gol Hehardl A | SR & 3 gEE Al 3wl 37 39 $IS @
o | B A i o | e T e
. | IedEHT - gAT < |
176. mﬁaﬁm(A)m WWW(B)%G ; ﬁﬁm?ﬁmgmm;?ﬁ | | T §
(C) der (D) &8 | mwﬁﬁmﬁﬁﬁ%ﬁa;
177. afga Yoo o A & &1 915 2 | %qﬁmq@naﬁgﬁmm HR
(A) HTed (B) fizssre %mmlﬁam % fou menfaa
(C) @S (D) FHFT | gﬁmagrmwﬁq—gﬁm—aﬁgﬂnﬁ
178. 7=t HHH B IEW BA AR ? | ‘
(A) 91 (B) ®i3 | 183, Icem 3R WUHR F W@ H @ d
(€) o (D) =0 | @ had A
179. ‘qﬁ%az“i o1 GUTEN i 30Td ST T1ds (A) e 78 21 e |
?T)fram (B) | | (B) 9@-3: %1 3791 & S |
(C) J=ae (D) | % (C) MR F 3AT9eh! 31T IHST 30 |

180. ig & @ BT - HETat 1 39 3 (D) e 3 firer 3 forw stremmfra @& |

A) UF g T gET g &M |
ng @gﬁﬁ@?ﬂwg | 184, 3l g feA-glt G- Ss=fd
(C) TH-SETHT 33T HE1 § wun | feA-gft Ta-dEh =t geEr
(D) amlﬁsm@m N % FHHAH IS A2 ?
19, Bt fefeeiimant? | ) Rk oo
(B) Ffe & g 7 g ot e AR | (B) fem fowe = |
(C) ey =Ifeen B T e wEG B A | (C) fem wrdt &1 =mm |
(D) 3 TTefd HTH Hich FEvE HAET | | (D) 3¥=et aah! &A1 |
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185.

186.

187.

188.

189.

190.

191.

mﬁw&@maﬁw%aﬁﬁ

HEAF TG TSATE ?

(A) T JERH GRT 35T T1Ta & & |

(B) B AN FOM S FIH I T2 |

(C) Taiey td gU @ M faweran
1 W HA 2 |

(D) Fugul FraTEol § 0vE 3R 3EE-al
i ST B A R |

9! AR & S T& arEn gem, 3fe

Y

(A) ST H Fq0E | M Ha |

(B) g | 9Ryy e Al 5§
foretm |

(C) Y WY YEAEHT, IecAend
37 7 -muf=rE s o |

(D) Sfea § frrem & sron 1 favem
Exull

T, 1 ITGH I

(A) THfES vt

(B) IocATd aUT TIYshR i Fadl

(C) 3rremEmfean

(D) Sfie % wfa @ gfemm
fore faerea o 2FT 99 g U 2 2
(A) 8,7 (B) 3,9%
(C) =, (D) 3, 31
Forforfiad 5 & i =1 wreg Gora 7T 2 7
(A) Tgam (B) #ie
(C) F=2 (D) %=1
freafafEga g s =sREe?
(A) 3 (B) 9

(C) = (D) &

Torw foepey @ wvft oy @f=i 8 2
(A) &, T (B) 1,9
€ 4,9 (D) @, 9

T A AT A W LSS % B T (BB = b 9 W 3 IR | T SR A O AR AR 0t T N AR W AR W e

L AT AR 1Y B e aET PR | B T AT St T e MR W,

R TEe———————
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192.

193.

194

195.

196.

197.

198.

199.

200.

ford foreped 0 |l vTeg T TRTEETHT 98
2

(A) FaL, AT, A
(B) =9, ¥, I

(C) ﬁaﬁm

(D) &, ﬁﬁT iy

e faehed | “Integration’ 9168 &1 T
& urfoanfies ez w1 2 2

(A) THIHTT (B) T

(C) THeE (D) 3ftramm

form T 1wt vreg o T & 2
(A) IITGH, I, TS

(B) I, ASHA, IS
(C) 3R, ¥SR, 3R

(D) =faar, g4, =i

e Tarmpog 5 it wree T I Ea=I & 2
(A) &8d, |4, 301

(B) , 9, U8

(C) 3T, THTHA, IHaHe
(D) =Tt fau, Tz

Torar fopee 3wt wreg ot wiarr=i €
(A) Hreft, geht, aaelt

% ?{'}3 » T, 989

) .

fermt farepeu 1 ol faeim-gm € 8 2
(A) FHTEE x

(B) 9T x
(©) 'qaa

%ﬂﬁﬁ%ﬁaﬂﬁam—gn? A
o — M i

T forepen § wél faeim-gm i 2 2

(A) g9E-=E (B) MihI-4m

(C) yH=i-fawvor (D) g9 -gm

?ﬁﬁm § veg-gW & HY-9e HEl
TR-JH -

(A) 39 - FAFS T - F

(B) TqmH -gHd A - GaMT

(C) fowwu-faum  wm=1 -3m@Ewfeq

(D) 3T - T HHE -%8
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